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MANAGEMENT
SEC : Employability Skills
(NEP)

Time : 2 Hours Maximum Marks :

50

Note : Answer all the sections.

RS 1 DER DRI IO,

Instructions to the candidates

e:vz%@rrﬁ@ﬁ TRBIND

1. The question paper will be given in the form of a question booklet.

TBBEFON, HATCH CRTHEY IRBRHR.

2. Immediately after the commencement of the examination, the candidate should
check the question booklet supplied to him/her contains all the 50 questions in

serial order.
wbei TT0LWOT TOET, @a%@&-‘ofm 331 T DB @sgmgswm% LOdeDFZe3eD,
@5@3@ 50 @5@{1@@01 pstelso} d@wd@qm@d&‘% mébw@%%@@@oﬁéﬁ%

3. The question booklet does not have unprinted or torn or missing pages and if so,
he/she should bring it to the notice of the invigilator and get it replaced by a
complete Booklet. This is most important.

@egmgéom ROOB SROTT/BOLIR/AYTE AR mme;ag XROOLPO, NG é)méésrmb
3RBR dse@%md%d ﬁoﬁaaﬁ%é ST Tonp @éolmﬁi%owmq wa@%m%@m (mmm‘i geQ
TBOINFT), QW ms%mmmﬁd.

4. Blank pages of the question booklet may be used for rough work.
BB FT0ABTOD 250D DUNTIY, 35, %@ﬁﬁﬁ/rough work 7t eVFTO3RENTLTITR.
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5.

10.

11.

Each question is provided with four choices (4), (B), (C) and (D) having one correct
answer. Choose the correct answer and darken the bubble corresponding to the
question number using Ball pen in the OMR answer sheet.

TITJ Doey, SORNYI), WBNISNT (A), (B), (C) & (D), @PYNTY .0m FOIRT
YOZTHI, BROVT. FOIPT ITHD, B0 T OMR T B[IFODY e T W),
WY TP, FOBR OFMEETON WS VT, BOW.

Correct Method Wrong Methods/33 3z07ed

BT || XBOD O®O0O® 0000
LDOOD | ®|B®OD ®O@OD

Each correct answer carries 1 mark and no negative mark for wrong answer.
ROOIPT YVTTHY) 2,000 WOTVIY, BLOVDTOTT W) IIW YWITF 9NFOZF WOINPY.

No candidate will be allowed to leave the examination hall till the end of the

session without handing over, his/her answer sheet to the invigilator. Candidate
also has to ensure all the particulars/columns in his/her OMR is filled correctly
before handing over the OMR sheet to invigilator.

TOEE WONT TOIT T[HFNFHTRBW, BBH 0eDpTION w3 T TOEE BIOD ONCLTIIN
B3RTROWOT ITWH TN, 3e3B FeDTTOR TITHRFDTI, Jews BT, I, OMR
BIFODY WT/IFOTVT DU [P0, FOCIPN TZRDAR LD DOT DWITBATRARYTI.

Strict compliance of instructions is essential. Any Malpractice or attempt to commit
any kind of Malpractice in the examination will result in the disqualification of
the candidate.

3RTR f)aee?smd%d ?:’)\.@23571%?33&\ TEREIN m@ﬁéégﬁ% IRTY wOoIH @?,55@?71%3?\’)3&\
OTTE RPBTOMITY)TR.

Use of Simple/non-Programmable calculators are allowed.

RTY TEBETT VW), WIRWTIWD.

In case of any discrepancy between English and Kannada versions, the English
version will be taken as final.

QONET B IIRX BRINY (TFNY) IWB 0IRPYTe BIVANST D, QONET 553 30D,
908z0wON TONESRF)T.

English Section questions from Q. No : 37 to Q. No : 48 are in English Only. The
rest questions are in bilingual form (English + Kannada).

QONET VPN TIFNRWD T, FO : 37008 T, O : 48 ¥, SORVPFIDTY FeFOLITOTS.
ARNPT JINTYR, QOR (VONET + IITIRQ) FeFOL.
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1. Which of the following are Central Government exams ?
(A) SSC - CGL (B) UPSC - IAS
(C) Railway Exams (D) All of the above

88 FINIYNYY 307 AToF T IHAOR waegﬁ@o SRR ?
(A) SSC - CGL (B) UPSC - IAS

(C) T moeIned (D) IS DY

2. Which of the following are State Government exams ?
(A) FDA (B) Police Constable
(C) Commercial Tax Inspector (D) All of the above
88 FINTYNYY mzééﬁﬁrd IBROT wéeéﬁ% SRR ?
(A) FDA (B) Hwpedex® Hedd

(C) mséasé 3071 TONEFTD (D) XedT QP

3. NABARD stands for :
NABARD <033 :
(A) National Banks for Agriculture and Rural Development
(B) National Board for Agriculture and Rural Development
(C) National Bank for Agriculture and Road Development

(D) National Bank for Aviation and Road Development

AR AT P.T.O.
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4.

Which of the following exams you have to apply to become probationary officer at
Grameena Bank ?

(A) IBPS - PO (B) IBPS - SO

(C) IBPS - RRB - PO (D) None of the above

[aDINNE masos@mfeg BRICRTO S5eTTT/9QTO BN, 83 FPNT ofm@zjéé PBE ZYRBeD 9
(A) IBPS - PO (B) IBPS - SO

(C) IBPS - RRB - PO (D) eOT BRPTH ©Y

Which of the following Jobs are not part of Railway Recruitment Board (RRB) ?

(A) SSC-JE (B) Senior clerk cum typist
(C) Goods Guard (D) Station Master

83 3YNT 03PT NTBRLNAND TP JezNF08 HOBYOD gon=ong :

(A) SSC-JE (B) 300D MOBPA ©p é,%&,*s;
(C) =T SIely (D) éfﬁ@e [P

What is the minimum Education Qualification required to become a bank
employee ?

(A) SSLC (B) PUC

(C) Any degree (D) None of the above
wpler ) emc’iroesef\ofmrim @ri'e‘s@dm %Ba"% égsa OBES DI 9

(A) SSLC (B) PUC

(C) CRPTe JTR (D) 0edT CBRYTR ©Q

UPSC Stands for :

UPSC «0a3 :

(A) Union Public Service Council

(B) Union Public Service Committee
(C) Union Public Service Commission

(D) Union Public Service Contract

Employer pays to the employees.
(A) Commission (B) Salary (C) Wages (D) All of the above
NTRLNTVT 3T, NWBRLNRR ANENEDIA

(A) BN3F® (B) =mow¢ (C) HeS/ewed (D) 0eOT QTP
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9. In SSC-CGL, CGL stands for :
SSC-CGL ¢, CGL 20T0T :

(A) Combined Graduate Law (B) Combined Graduate Level

(C) Combined Group Law (D) Combined Group Level

10. Who conducts exam for the post of APC (Armed Police Constable) in Karnataka ?
TRFuEng APC (333 SBpden” Bed/5oa73e00e") DTN w@egosasaol 033030 IWRTT ?
=2 ey

(A) KSP (B) UPSC-NDA (C) UPSC-IPS (D) SSC

11. Complete the Series :
RTEFON, TREFRBVA
BF, CH, ?, HD, LT

(A) FG (B) EK (C) CE (D) FJ

12. Complete the series :
RTEODND, TRFRRVA
1, 4,9, 16, 25,?

(A) 40 (B) 36 (C) 35 (D) 49

13. Find the HCF of 140 and 200 by division method.
DPWIOH DTOINOT 140 HFY, 200 .70, B, FOWERROWD.

(A) 40 (B) 30 (C) 20 (D) 10

14. Find the LCM of 14, 56, 91 and 84 by division method.
DPRZOD LPOILOT 14, 56, 91 D, 84 T ©.%0.. O, FOWELREWO.

(A) 2184 (B) 2854 (C) 2764 (D) 2844

AR AT P.T.O.
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15. Complete the series :

RTEIONT), TREFNRRVA :

22,21, 23, 22, 24, 23, ?

(A) 22 (B) 25 (C) 24 (D) 26

16. Rent of the house is increased from Rs. 5000/- to Rs. 5500/-. Express the increase
in price as a percentage of the original rent.

BB PRITDI, Be. 5000/~ 00T Te. 5500/- & FBBCRNT, S LPRROD JesTE0oT
BSoDY BPIIW, [IBAR.

(A) 5% (B) 15% (C) 8% (D) 10%

17. By selling a table for Rs. 660/-, a trader gains 10%. Find the cost price of the
table.

3. 660/- 3 @ew w, [PON BB BWVE WRTO  10% RIS, e
ﬁz;p BN /ZRO 25@3033?53@l FOWRLRCND.

(A) 600 (B) 610 (C) 620 (D) 650

18. Complete the Series :
RTLIODNT, TJRFNRRVA
7, 10,8, 11,9, 12,7
(A) 7 (B) 10 (C) 12 (D) 13
19. Find the interest to be paid on a loan of Rs. 10,000/- at 5% per year for S years.
5 IRFRYBSR SR 5% 303 T, 10,000/- 70D 3Hed o837 eTn RODI), F0TERROND.

(A) Rs.2000/- (B) Rs.2500/- (C) Rs.2400/- (D) Rs. 2200/-
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20. ‘A’ can do a piece of work in 6 days, ‘B’ can do the same work in 7 days. How long
will they take if both work together ?

3 2 4 )
3— 3— 3— 3—
(A) 13 days (B) 13 days (C) 13 days (D) 13 days

A 0T FOIBIR, 6 OINTY VPRV, B’ wde ORI, 7 OINYY SRBWOTIW.
m%m mgﬁ FORTIOTED DT TTOR éﬁcﬁa%@@%@gd 9

3 2 4 S
3— 3— 3— 3—
(A) 13 AN (B) 13 QIND (C) 13 AIND (D) 13 QI[N

21. There are 30 students in class. The average age of the first 10 students is
12.5 years, the average age of the next 20 students is 13.1 years. The average
age of the whole class is :

(A) 12.5 years (B) 12.7 years (C) 12.8 years (D) 12.9 years

gonéony 30 é)ma@s-—ﬁ@w%d, HPTO 10 é)métbrmﬁ ROVFO B[OPA 12.5 IRFNAD, TNOOT
20 QRHENT FTIRO [ODEY 13.1 THETEH, AR ITNSOD FTIRO TODA) AT, ?

(A) 12.5TFFnsd  (B) 12.73RFnsd  (C) 12.83XFNDL (D) 12.9TRFNH

dnwabwah
22.
24 11 ? 13

What number should come at the question mark ?

@eroep £3 a%%ol QRY 0350 30935 TSR 9

(A) 36 (B) 26 (C) 66 (D) 56

AR AT P.T.O.
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Instruction for Q. No. 23 to 27 :

The Bar graph given below shows the sales of books (in thousand numbers) from
Six branches of a publishing company during two consecutive years 2000 and

2001.

85 391 DeBRT 2300° Mo 2000 B 2001 T X 0@ SRENYY TFoTT FOTAOD T
ToBNYOT [PTETT TRINY 50&35033330{ 3RO (TRT ﬁoﬁémg).

Sales of books (in thousand numbers) from Six branches - B1, B2, B3, B4, B5 and
B6 of a publishing company in 2000 and 2001.

2000 3 2001 09 T3S 30mACH B, B2, B3, B4, B5 & B6 s 32337903
SN THABNY BP0 (WIT T0BHY)

110+ 105
100

80

Sales (in thousand numbers)

75
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75

80
70

— N W A 1 O N ®© O
© o O O o O O o o o
| | | | | | | | |

B1

B2

777 2000
[_J- 2001

23. What is the ratio of the total sales of branches B2 for both years to the total sales
of branch B4 for both years ?

ROBR BRENS B2 3030H 2t RIVTOLT LIRVTO3 msi VBN IIENS B4 Z0830D 2083
RIVTOLITT LIVTOS DI 9

A) 2:3

(B)

B3
Branches

3:5

B4

B5

4:5

B6

(D) 7:9



24.

25.

26.

27.

28.

29.
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Total sales of Branch B6 for both the years is what percent of the total sales of
branches B3 for both the years ?

NTVBR SHENY B6 TS0 i) #[pToWR) HTW JIRFNY B3 To30D 2otd) [T
3BT DT, ?

(A) 68.54% (B) 71.11% (C) 73.17% (D) 75.55%

What is the average sales of all the six branches (in thousand numbers) for the
year 2000 ?

2000 IRFTY/3, Oy ST T0BNY (T F0300Y) FTIRO [PTL DT, ?
(A) 73 (B) 80 (C) 83 (D) 88

Total sales of Branches B1, B3, BS together for both the years (in thousand
number) is :

B1, B3, B5 20371¢ 2.t ©0008 — 20BR SIHFNYY (WT B0B50DY) 1T -
(A) 250 (B) 310 (C) 435 (D) 560

Total sales of branches B2, B4, B6 together for both the years (in thousand numbers)
is :

B2, B4, B6 3033n% 2.t WIVTOL DTER BIRENYY (FORT mél%ojacg) QT :
(A) 470 (B) 435 (C) 440 (D) 455

“SPECIAL” is written as ‘65’ in a certain code language. What will “CONNECT” be
coded as ?

2.0 3ReT gPROD BTFs “SPECIAL” 9, 65’ 0T LTORRNT, ©Te 3¢ gRONY
“CONNECT” &=, et W3TORNWITVT ?

(A) 70 (B) 64 (C) 32 (D) 74

In a certain code “FROZEN” is written as “OFAPSG”. Then how would “MOLTEN”
be written in that code ?

2.0 dReww (PRODY “FROZEN” 9, “OFAPSG” 0@ 2T0DCRNG. e §¢w (oilodQ
“MOLTEN” @m‘% Tt W3OV 9

(A) OFPOMN (B) OFSMPN (C) OFUMPN (D) OFUNPM

P.T.O.
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Instruction for Q. No. 30 and 31 :
In the following questions select the related word from the given alternatives.

3INT BINYY JeRTT/ TOIPF ODNYOT BOWOHAT TWBIY, Gﬁoﬂ% TR&.

30. Smoke : Pollution :: War : ?

(A) Victory (B) Peace (C) Treaty (D) Destruction
RN M@Sé : OS:OCED: 2
(A) Ry (B) 008 (C) wTow (D) QT3

31. Flow : River :: Stagnant : ?

(A) Pool (B) Rain (C) Stream (D) Canal
TOF) : IO = %ﬁ@ 1 9
(A) 3o% (B) ¢ (C) ReTF/BRS (D) o

&

32. A and B are married couple, X and Y are brothers of A. How is Y related to B ?

(A) Brother-in-law (B) Brother

(C) Son-in-law (D) Cousin

A B B D398 TOTEN, X 3B Y — A oD TTRCTTRN Y Iert Bt Z000QT 9
(A) RRTT [0w (B) @Sg/éme

(C) w9 (D) RReTT BOWOH

33. Ais the son of C ; C and Q are sisters ; Z is the mother of Q and P is the son of Z.
Which of the following statement is true ?

(A) P and A are cousins

(B) P is the maternal uncle of A

(C) Q is the maternal grandfather of A
(D) C and P are sisters

A, Cod @ ; Capa) Q IBAEBOOHT ; Q3 o0 Z T Z 3 & P. 85 9N 03033
Bev$ FOOIPNT ?

(A) PRI AAeeTT FOWOR
(B) P, Ao 30000 8FT
(C) Q,A 0D ONOD 30T
(D) C 3 PABRHETOONTD
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34. A man walking towards north after walking 100 mtrs turns right and walks

35.

36.

75 mtrs again, he turns right and walks 100 mtrs and last he turns left and walks
25 mtrs, now which direction he is walking ?

(A) West (B) East (C) South (D) North

20 mm%m eméd%& @IS, 100 eneess’ IR J03T we@é 83N 75 mitr. Sdo\‘mm_ﬁ,
GsVH 2,)@% &N 100 mtr IWOINTFE. BRFCPTN @Cé%é &N 25 mtr IV, N
eSSnhoy @@5 3BN 23@#0%@35 ?

(A) TdI (B) Sz (C) cgeo (D) «vET

W

Smallest 4 digit number, which is perfect square ?
SN :5033571%3@) O30 TR 450335053 DOTReRE mrsog% 2

(A) 1000 (B) 1022 (C) 1064 (D) 1024

A man walks 1 km east, now he turns south and walks 5 km again he turns east
and walks 2 kms. At last he turns north and walks 9 kms. Now find that he is in
which direction from the starting point ?

(A) North west (B) South west (C) South east (D) North east
2.2), DT BRWFE 1 km IBOINTS, 1 ©BI BFeog, SN 5 km SEOINTVS, TRTJET,

&N 2 kms 5@0333335. BRAZTONTON L em%d%é 8N 9 kms 5530533335. BN SOTI
BTORIT WOTNNAOT O30 @@5@2@3@ ?

(A)  oODT (B) Ipds, (C) ©nRgod (D) =359,

37. Amongst the following ; Choose the mis-spelt word :

(A) Itching (B) Interview (C) Interupt (D) Irregate

AR AT P.T.O.
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38. Amongst the following ; Choose mis-spelt one :
(A) Demonstration (B) Tution

(C) Audience (D) Superiority

Instruction for Q. No. 39 and 40 :

Pick out the most effective word from the given words to fill in the blanks to make
the sentences meaningfully complete.

39. His profession is teaching but his is photography.

(A) Vacation (B) Vocation (C) Vocative (D) Avocative
40. We are highly disappointed exam results.

(A) with (B) about (C) at (D) from

Instruction for Q. No. 41 and 42 :

In the following questions, an incomplete statement followed by some fillers is
given, pick out the best one which can complete the incomplete statement correctly
and meaningfully.

41. Wait here

(A) While I come back (B) Unless I return back

(C) Until I have comeback (D) Till I come back

42. Unless you work very hard
(A) You ought to be successful (B) You be not successful

(C) You are not being successful (D) You will not be successful



43.

44.

45.

46.

47.

48.
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Instruction for Q. No. 43 and 44 :
Though she was sick / but / she went to work / No error.
(A) Though she was sick (B) But

(C) She went to work (D) No error

I have lived/in Delhi/from 1965/No error.

(A) I have lived (B) in Delhi (C) from 1965 (D) No error

Instruction for Q. No. 45, 46 and 47 :
In each of the following questions, four alternatives are given for the Idiom/

phrase underlined at the question places. Choose the alternative which best
expresses the meaning of the Idiom/Phrase as your answers.

In the last budget, the government brought forward a new scheme of taxation.

(A) Prioritized (B) Displayed (C) Notified (D) Introduced

The kind old woman received the stranger with open arms.

(A) with her arms free (B) with warmth

(C) with restraint (D) with gratitude

To roll out the red carpet

(A) To buy a gift (B) To give a warning signal

(C) To decorate the room (D) To give a grand welcome

Select the most appropriate ANTONYM of the given word :
REBELLION

(A) Uprising (B) Loyalty (C) Sedition (D) Allotment

AR AT P.T.O.
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Instruction for Q. No. 49 and 50 :

Study the problem figures marked (a), (b), (c), and (d) carefully and try to establish
the relationship between them. From the answer figures marked (A), (B), (C), and
(D). Pick out the figure which most appropriately completes the series :

49. Problem figure :

R VA Vet

(@) (b) (c) (d)

Answer figure :

/ \ | 7/

(A) (B) ©) (D)

50. Problem figure :

00000 [0000 |000
o— o— o— ?
L] o0 [ N J

(2) (b) (c) (d)

Answer figure :

000 |oooo |00 0
o— |o— |o— |o—
[ ] [ N ] o000 [ N ]

(A) (B) (€) (D)

-00o0-
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK



